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Structured Questions

Read the source material carefully before answering Question 1.

Source material: India’s airline industry

Air India fact file

total revenue 2018 $2.2 bn
total cost 2018 $2.9 bn
number of passengers carried in 2018 16.4 m
number of passengers carried in 2017 14.8 m
share of India’s international and national air travel 13%

market in 2018

share of India’s international and national air travel
. 100%
market in 1994

Air India is owned by the Indian government. The entry of new firms into
India’s air travel market has reduced Air India’s ability to set price. The
state-owned firm faces competition not only from other airlines but also
from other forms of transport including trains and ships.

In 2017 the Indian government tried, unsuccessfully, to sell Air India to the
private sector. A successful sale would have raised money for the Indian
government and might have increased the airline’s efficiency.



It is predicted that India will have the third largest airline industry by 2025.
The growth in the industry may affect the current account position of India’s
balance of payments.

Table 1.1 shows the current account position in India and four other
countries.

Country Current account Current account% of
($ bn) GDP
Brazil -9.8 -05
China 164.9 14
India -48.7 -19
Kenya -54 -6.8
Russia 35.4 29

A rise in both the number of routes flown and the quality of the
passenger experience may increase the number of tourists visiting India.
A larger Indian airline industry is likely to increase the ease of movement
of people and goods into and out of India. This might attract more
multinational companies (MNCs) and reduce firms’ costs of production.

India’s air travel market faces a number of challenges. India has Asia’s
highest airline fuel tax. Some economists suggest that this should be
increased further to increase tax revenue and to reduce market failure.
The airlines’ other costs are rising but it is difficult for them to raise
prices. This is because India’s air passengers are among the most price-
sensitive in the world. Some airlines stop their costs rising any further by
improving their staff training, introducing new technology and improving
their pilots’ working conditions. The airlines’ ability to hire pilots is
influenced by, among other factors, the quality of education and other
job opportunities.



Answer all parts of Question 1.

Refer to the source material in your answers.

(a) Calculate, in $, Air India’s loss in 2018. [1]

(b) Identify two substitutes for air travel. [2]

(c) Explain one characteristic that suggests that Air India was a monopoly in 1994. [2]
(d) Explain two reasons why a government may privatise an industry. [4]

(e) Analyse how India’s position on the current account of its balance of payments in
2017 compares with the other four countries. [4]

(f) Analyse how a successful airline industry can promote economic growth. [5]
(g) Discuss whether the Indian government should increase the tax on airline fuel. [6]

(h) Discuss whether more people will apply to be pilots for Indian airlines in the future.
[6]
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Step 1

First Reading

Read the source material carefully before answering Question 1.

Source material: India’s airline industry

Air India fact file

total revenue 2018 $22bn

total cost 2018 $2.9 bn

number of passengers carried in 2018 16.4m
number of passengers carried in 2017 148m

share of India’s international and national air travel mar

ket in 2018 1%

share of India’s international and national air travel mar

ket in 1994 100%

Air India is owned by the Indian government. The entry of new
firms into India’s air travel market has reduced Air India’s ability to
set price. The state-owned firm faces competition not only from
other airlines but also from other forms of transport including
trains and ships.

It is predicted that India will have the third largest airline industry by 2025.
The growth in the industry may affect the current account position of
India’s balance of payments.

In 2017 the Indian government tried, unsuccessfully, to sell Air India | Table 1.1 shows the current account position in India and four other

to the private sector. A successful sale would have raised money countries.
for the Indian government and might have increased the airline’s
efficiency.
Countr Current account Current account% of
Y ($bn) GDP
Brazil -9.8 -0.5
China 164.9 14
India -48.7 -1.9
Kenya -54 -6.8
SKIM THE DATA Russia 354 22

A rise in both the number of routes flown and the quality of the
passenger experience may increase the number of tourists visiting
India. A larger Indian airline industry is likely to increase the ease of
movement of people and goods into and out of India. This might attract
more multinational companies (MNCs) and reduce firms’ costs of
production.

India’s air travel market faces a number of challenges. India has Asia’s
highest airline fuel tax. Some economists suggest that this should be
increased further to increase tax revenue and to reduce market failure.
The airlines’ other costs are rising but it is difficult for them to raise
prices. This is because India’s air passengers are among the most
price-sensitive in the world. Some airlines stop their costs rising any
further by improving their staff training, introducing new technology
and improving their pilots’ working conditions. The airlines’ ability to
hire pilots is influenced by, among other factors, the quality of
education and other job opportunities.
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For A level, AS level, GCSEs and O level.

The fundamental economic problem

The fundamental economic problem is:

‘scarce resources in relation to unlimited wants'.

2 3

Scarcity: The excess of human wants over what can actually be produced to fulfil these wants

@ Resources: inputs available for the production of goods and services.

5 Wants: needs that are not always realised.

Choice

Choice underpins the concept that resources are scarce so choices have to be made by consumers,

firms, and governments.
: I

Choice involves sacrifice. The more food you choose to buy, the less money you will have to spend on

other goods.
: I

In other words, the production or consumption of one thing involves the sacrifice of alternatives. This

Sacrifice

Opportunity cost

sacrifice of alternatives in the production (or consumption) of a good is known as its opportunity cost.

Opportunity cost is the cost expressed in terms of the best alternative that is forgone.



Economics Essays.
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Subscribe and get access to a collection of high-quality A+
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Well structured
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For A level, AS level, GCSEs and O level.

Question

‘Both the take-up rate and number of journeys per bus pass have been falling in recent years.'
Explain two factors which could lead to an increase in the demand for bus travel in the future,

(10 marks)

Culagary: Demand and suppl}-‘ AQA AS ECONOMICS MNovember

2020
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Economics Data Questions.

What's the optimal strategy to answer an economics
data question?

Subscribe and get access to a comprehensive STEP-
BY-STEP guide to tackling data response questions.

e Model Answers included.
e For A level, AS level, GCSEs and O level.

/_ SKIM THE DATA

Start by skimming the data.
Read the text quickly to get
a general idea of meaning.

N

COMPETITION IN THE
SKIES OVER EUROPE

It was predicted that this would
lead to an increase in the market
share for the top five European
airlines from 50% of the
European market in 2019 to
match the top five United States
(US) airlines, which control 77%
of the US market.

/ LOOK AT THE TITLE

Look at the title as it may give
some clues about its content.

ANALYSE FACTS,
FIGURES AND

/ TABLES

Analyse facts, figures tables

and diagrams. See if you know

what they mean. Pick out any
notable features of a chart or
diagram.

Read the Requirements

Always read the requirement first as this enables you to focus on
the detail of the question with the specific task in mind

What is the point in reading a scenario if you don't know what you
are looking for? If you don't read and understand the requirements
caretully, then you will find that you are not actually answering the
question. If you are not answering the question, then you are not

earning marks.

Pay attention to (1) The content and (2) The instructions

Explain what is meant by a contestable market and
discuss how making the airline market more contestable
could benefit passengers.
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(d) Explain two reasons why a government may privatise an industry. [4]

STRUCTURE
There are several reasons why a government may

privatise an industry, such as air travel.
CLEAR

/_ HEADINGS

Reason 1: Privatising_an industry may lead to an increase
in_ government revenue.

The government may earn more tax revenue if it
privatises a state-owned industry. This is because a
privately owned industry has to pay corporation tax. A
corporation tax is a tax levied on companies profits.

/_ PARAGRAPHS

The sale of a state-owned enterprise to the private

sector will also raise money for the government. REFERENCE TO

/_ THE DATA
In the data, it was mentioned that a successful sale of
Air India to the private sector would have raised money
for the Indian government.

More tax revenue will enable the government to increase SIMPLE ENGLISH
its spending on education, healthcare or /_
infrastructure. This will help to promote development

in the country.

Reason 2: The government may privatise an industry,
because the industry is making a loss.

The need to use tax revenue to finance the loss-making
industry will be reduced. The private sector may also
manage the industry with greater efficiency and turn
the loss into a profit. This is because the private sector,
motivated to make a profit, will increase productivity
and reduce costs.
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e Answers and Explanations included.
e For A level, AS level, GCSEs and O level.

o1 Economic Problems

i O level
02 Factors of Production .
_— . topics
Scarcity, Choice and Opportunity Cost 03 Economic Systems
Multiple Choice Questions
04 Demand, Supply and Equilibrium
d 05 Perfect Competition and Monopoly
Questions ;
Answers and 06 Aims of Government and its Role
Explanations
07 Market Failure
[i]:} Public Expenditure vs Private Expenditur
09 Banks and Stock Exchanges
Paper and year 10 Labour Market
" Motives for Spending, Saving and
Borrowing
12 Different Types and Sizes of Firms
13 Production, Costs, Revenues and Profits
AS level topics
A level
01 Basic Economic Ideas And Resource Allocation o Law of Diminishing Marginal Utility, to iCS
Indifference Curves and Budget Lines, p
02 Production Possibility Curves 02 Types of Cost, Revenue and Profit
03 Classification Of Goods And Services 03 Firms and Market Structures
’ " 04 Efficient resource allocation
04 The Price System And The Micro Economy
05 Equity and Policies towards Income and
05 Price Elasticity Wealth Redistribution
06 The Macro Economy 06 Labour Market Forces
) o7 National Income Statistics
07 International Trade
08 The Circular Flow of Income
08 Protectionism
09 Money Supply (theory)
09 Exchange Rates 10 Economic Growth, Economic
Development and Sustainability
10 Government Macro Intervention
1 Government Macroeconomic Policy Aims






